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four decimals, order of operations with brackets

Name:

(34+4.9)x56+5=

(32-47)x37-39=

(2.6 5)x22+57=

30(4.8+53)+6 =

(6+3+64)x5.1=

Date: Score:

20+ 4—44)x 4.1 =

28-3.7(43-5.1)=

2.5-4.6(3.9-2.7)=

46+2.1(44+59)=

49+ 502.1-47) =
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ﬁ four decimals, order of operations with brackets

Name: Date: Score:
(34+49)x56+5=5148 20+-4—-44)x4.1=1246
(32—-4.7)x37—-39=-945 2.8—3.7(43—-5.1)=5.76
(26—5)x22+57=042 25-4.6(39-2.7)=-3.02
30(4.8 +5.3)+6 =50.5 4.6+2.14.4+5.9)=26.23
(6+3+64)x5.1=42.84 49+ 52.1-47)=-8.1
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